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m BYJU'S MCERT Solution for class B Science Chapter B Cell-Structure and Functions
Tra Leairng A

3, Chromogsome:

These are thread-lie structures thal camy genes, Al the necessasy infcemaltion required for the ransier of
charaClEnsics inam the panems o the oftgpring ang shongd in the genes. Inhentancy of charadiensics =
possbis only because of chromosomes

#, Which part of the cell contuins orgamelles?

Sl

Vartous cell organelles are presemi in the cytoplasm 1 is a clear and colorless fluid that contnins organelies like
Mitochondria, Ribosomes, Golgi bodaes.

£ Make sketches of aninaal amid plant cells. State three differeaces belween them.

Soldn:

Famt oell Amimal eell

They are larpe in size
The cell wall is present
Vacuooles are large

Plastids could be seen
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Ambnsal Cell

They are smaller than plant cells
The cell wall is abzent
Wacuales are xmall

Excopl for Euglena, Plastids oould ol be seen in anamal cells
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Answers to examlnatmn-style questions
Answers Marks Examiner's tips
1 (a) diffivion'movemsent of water; 3 I vou find warer potential diffcul. oy
through a partially-permeable membrans: drawing a cumbeoed line startog ot 0 and
from: lets Segatve 1o ol negative from paizz down with paganive mumbers Pore
higher water potential to lower water witer ks 2 water potennial of 0. All
potantial; selmiions have B Dé ZATVE WLNE patennal
(B} @) 5.55cmallow 5.Jor S8 only 2 Ciotrect aziwmer = 1 Darks. Comect
rupporned by comect working); working but incormect answer = | mark
509 =35355 Ah'm'ishnwwhki::lﬁbmmm
@ 1 Temywhemsoletof 030 1 e e et g e
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amIwer
Y (@) () macvovilli (relect drush Sorder), 1
() imcreased srisce area (for diffusioa): 1
) @ 20000 2 Correct avwer = ] marks. Cotrect
@« 10000 1 = 90000 wariing b ipcarrect paower = | mark
Use the scale bar. Measurs the lengi
BSing 2 ruler
Length af bar = fmm. comvert fo
mucromeres by mulnphying by 1000 dwn
divede by siated leagth of scale bar
(i) electron microscope has & greansr 2
resal weniobjects closer wopether
ey Losmrecs i
electron (beams) have 2 ihortes
wavelangth;
{c) shert d:ffesion pathorey/'shor pathway w 1
e cenme large noface amea to volume
rato for fases/moce diffution;
A (a) passivedo ot mequire enenpy ATP: 2 DMefake Sure VOUT MDEWErT ane carmect for
E0vemenT dOWT b coSteTaton gadient oxypen and water. If a word is in bold
by diffusion; prizt, read it very careficlly! In is like that
go theough phospholipid (bilayeryno: by far a rezsac!
protein'cEmiers;
() =ctive mamspart, 2 Al 1000 24 YOU L8# OXYEED OF Mespiration
occurs when oxygen present bacagse invoived with mansport, you should be
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OR the caly process thar uses snerzy
Againit a confenization gradient becamse
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Using the Distributive Property Period___
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eehterclw eirclw lipw.eci Icin livt, licerew, licerew, licerem y(f) = C emocni etagerga na noitpmusnoc etagergga nwatip noitycuC of money. It also serves as the basis for the slope of the aggregate expenditure line and is fundamental to the multiplication process? If income changes by 1, then consumption changes by the value of the SMP. Thirdly, the
SMP affects the multiplier process and affects the magnitude of expenditure and fiscal multipliers. QUS NO:-3 Suppose the government announces that it will pay half of any new investment 3 not made by the companies. If Intel has enough equity to finance the new factory without payment, will a rise in interest rates affect Intel's decision® n whether
to build the factory? In general terms, investment 3 not means using money to make more money. Therefore, no benefits can be guaranteed. Second, the SMP is the slope of the consumption line, which makes it the basis of the slope of the aggregate expenditure line, too. The SMP plays a central role in the Keynesian economy. In particular, the APC
indicates how 2 household sector distributes total income. ANS:-A) As we all know that in the economy there is a negative or inverse relationship 2 between the investment 3 the interest rate. So, my family takes out a mortgage and buying a new house is an investment? n. When the supply of other factors of production is very 2 (i. e. the use 3 other
factors of production® can be increased without substantially increasing their prices) (substitution effect®). But in Marshall's discovery, we studied the function 3 demand. ANS NO:-2 Investment is ® an addition 3 social capital. To reduce inflationary pressures, the government can raise taxes and reduce public spending. The other is the average
propensity 3 consumption (APC). The SMP indicates the part of the additional revenue that is used for consumption expenditure. And they lead to the LM curve.An increase in supply always reduces the interest rate. Therefore, the investment?® n depends mainly on the investment rate of 2. Politics fiscalA &, A, this is another policy on the demand side,
similar in effect to monetary policy. If the rate of return is 10%, then you win $ 100 from buying the machine (1000 x 0.1). Thus, when the demand for final product is elastic, an increase in salaries will cause a great change in the amount of the aforementioned final product that will greatly affect employment. Risk: Varia, depending on the source of
the possessed values. QUS No: -8 Using the IS-LM model, showing graphically and carefully explaining the effects of an increase in public spending. This will reduce the DA. Differences between savings and investment: saving A ¢ 4 € "Objective: Short-term needs Used vehicles: bank accounts or money market, cdA ¢ & € ™ s risk: none on balances up
to $ 200,000.00 per depositor (FDIC) Return: Under InterA © s. 4. It was considered that, by maintaining the value of the pound at an elevated level, it would help reduce inflationary pressures. They look at different economic statistics and try to decide if the economy is overheating. Savings are inactive. We must move towards a simple and clean
solution: the government as a referee and the private sector as actors changes in business trust, capital costs and demand cause changes in the investment demand curve. It is found by dividing consumption by income. The rate of real interest is determined by non-monetary factors. Invest A ¢ & € "Objective: Long-term capital growth Vehicles used:
actions, bonds, mutual funds, tools, pieces, equipment improvements. NO ANS: -7 Savings is money or other assets maintained over a long period of time, usually on a bank at no risk of loss or gain. The United Kingdom no longer uses this. Disadvantage key: Historically returns have not exceeded inflation. Lower cost of production in the future that
higher net gains in the future. QUS NO:-9 Consider an economy with three policy objectives: 3% unemployment, 5% inflation rate 3 balance of payments equilibrium. QUS NO:-2 If savings fall sharply in the economy, economy, "Is it likely to happen to investment® n? Consumption = F (income) or ¢ = f (y) Consumption expenditure increases with the
increase in income. Yes, inflation will 3 be high in a short time, one more thing is that it is good only in the long term and according to this theory if the price will be high, revenues will increase, but create inflation 3 short term. If, for example, the APC is 0.9, then 90 of the income received by the household sector is used for consumption. The marginal
propensity 2 consume (MPC abbreviated) is another term for the slope of the consumption line and is calculated as the change in consumption divided by the change in income. The desired consumption and 2 investment are as follows: actual rate of interest Desired consumption 2 desired investment 2 6100 1500 3 6000 1400 4 5900 1300 5 5800 1200
6 5700 1100 A Why do the desired consumption and the desired investment fall 3 the real interest rate increases? Your room buyer earns $100 and deposits it into your account at a bank. A Do the following situations represent the investment? n? Investments are money or other assets bought in the hope that they will generate revenue, reduce costs
or appreciate in the future. Income induces the change in consumption at a rate measured by the MPC. If inflation is forecast to 3 above target, the MPC will increase interest rates. Similarly, if you are in the economy there is inflation, 3 means that the price of the product will increase and exceed even more to decrease the value of money. For
example, an increase in export sales abroad 2 be an increase in the expected rates of return on capital investment? and thus a shift away from the investment demand curve. It quantifies the 3 of consumer income and the fundamental psychological 3 law. "Why?" Errors that can be made in the choice 2 investments or the incorrect investments can cost
us a lot. Return: Interest paid and capital gains earned. A related Measure is the average propensity to consumption. Ans a) What is public spending? The marginal propensity to consumption is critical for macroeconomy and the study of the Keynesian economy. If the rate of interest is 7%, you pay $ 70 dollars in interest (1000 x 0.07). Consumption
does not increase at the same pace as income. The MPC Formula Standard Formula To Calculate Marginal Consumption Propension (MPC) is: MPC = Change in consumption Change in income This formula has a couple of interpretations. But all income increase is not transformed into consumption. It saves a part.a € ¢ & € In Economy, the Hicks-
Marshall laws of derivative demand affirm that, other equal things, the elasticity of the demand of the demand for A work category is high under the following conditions: when the price elasticity price of the product demand that occurs is high (scale effect). Here is savings. NO ANS: -4 Marginal Consumption Propensié: Proportion of each additional
income of household income that is used for consumer costs. In an economy that is closed to the outside world, investment can only come from forgotten consumption - savings - of individuals, private companies or government. Expenses lead to an increase in monetary supply and greater investment and savings. It's what really makes our economy go
and grow up. The income is saved that is not consumed by buying goods and services immediately. The decision to save is directly linked to the decision to invest. Consumers need money to buy goods and services. ANS No: -10 The desired consumption falls as the actual interest rates will be increased, it will be explained with the relationship
between consumption and the interest rate. A definction of leverage is the ability to do more with less. Discuss Ans No: -1 The consumption function can be defined as the relationship between consumption and income. More The kind of interest payable, the smaller the purchase purchase eht dliub ot noisiced sAAA¢letnl tceffa ton dluow ti ,tseretni fo
etar eht ni esaercni yna si ereht fi noinipo ym ot gnidrocca os ,sgniworrob tuohtiw yrotcaf wen eht ecnanif ot sdnuf nwo sti fo hguone sah letnl fI )B-:SNA nialpxE .suonegoxe si yenom fo ylppus ehT .enil noitpmusnoc eht fo epols eht fo erusaem a yllautca si CPM eht ,dnoceS .reilpitlum eht semit tnemtsevni ni egnahc laitini eht lauge lliw tfihs eht fo
tnuoma ehT .seirtnuoc gniruobhgien morf tsevni ot yrassecen secruoser eht worrob nac yrtnuoc a esuaceb wol si gnivas sAAA¢noitan a taht emit emas eht ta egrus nac tnemtsevni ,revewoh ,ymonoce nepo na nl .scimonoce lacissalc dna yroeht naisenyeK sih neewteb ecnereffid yek a sa senyeK dranyaM nhoJ yb desoporp gnidneps remusnoc fo wal
lacigolohcysp latnemadnuf eht dna noitpmusnoc decudni serutpac CPM eht ,tsriF .evitom noitcasnart rof edam si yenom rof dnamed rehsif oT.degnahc ton era edart fo eulav dna yenom fo ytitnauq htiw yltcerid seirav secirp fo level eht taht esnes eht ni tcerroc si yenom fo yroeht ytitnauq ehT REHCSIF OT GNIDROCCA diorep gnoL yticolev tnatsnoC
rotcaf evissap a si level ecirP tnemyolpme lluF gnidraoH oN egnahcxe fo muidem a si yenoM yenom ycnerruC dna yenom knab neewteb oitar tnatsnoC SNOITPMUSSA noitauge ecnalab hsaC hcaorppa noitcasnarT yenom fo yroeht ytitnauq fo snoitauqE .yenom fo eulav dna yenom fo ytitnauq neewteb pihsnoitaler esrevni dna level ecirp lareneg dna
yenom fo ytitnauq neewteb pihsnoitaler etanoitroporp dna tcerid a si ereht yenom fo yroeht ytitnauq ot gnidroccA .snoitcasnart ekam ot desu si yenom eht woh fo erusaem a yllaitnesse si AAA¢MA¢AA-AA¢A¢AVAAA¢ dna ,yenom fo yticolev eht si AAA¢VAAA¢ ,yenom fo ytitnauq eht si AAA¢MAAA¢ ,edis dnah tfel eht nO .detsevni ro devas evah ew
yenom eht naht erom tiforp ekat nac ew erehw stcejorp emos ni esu ro devas si hcihw yenom fo tnuoma niatrec si ti neht tnemtsevni tuoba gniklat era ew sa raf sA ssol emos fo ksir a osla sah ti yllausu dnA dnA And that requires people to save more. Key drawback: You could lose money if the values decrease in value. Can inflation be expensive if the
quantity theory is true? It is due to the psychological behavior of people. increase in spending the curve of investment and saving also translates into an increase since IS1-IS2. In finance, an investment is a monetary asset acquired with the idea that the asset will provide income in the future or will appreciate and sell at a higher price. Your family
takes out a mortgage and buys a new house Your roommate earns $100 and deposits it into her bank account You borrow $1000 from the bank to buy a car to use in your pizza delivery business. The desired investment falls as the real interest rate increases will be explained by the relationship between the investment and the interest rate. The real
interest rate: Companies only invest when the rate of return is higher than the interest rate (r>i) Ex: Getting a loan for a 1000 dollar machine. Going back to the difference between a saver and an investor, there’s a word that separates them, and that word is leverage. Companies need to think about the expected rate of return should be higher than
the real interest rate. The formula for calculating average propensity to consume (APC) is very similar to that of the MPC, but with important differences: APC = Income by Consumption Instead of the VARIATION in consumption divided by the VARIATION in income, the APC measures TOTAL consumption divided by TOTAL income. It makes more
sense for the government to reorganize itself, switching to the role of the referee and moving away from the role of the player. This inflation target is 2%+/-1 and the MPC uses interest rates to try to reach this target. Savings can be a good vehicle for making profits, but only because it protects investors from themselves and from incompetent
advisors or In the long run, if savings fall below investment? over time, investment 3 reduced and the future subtracted Key benefit: Money is safe and affordable. The position of this curve is affected by expectations, the level of economic activity, the capital stock, the price of capital, the prices of other factors, technology and public policy. ANS B) It
is also clear that anything deposited in a bank is part of saving not an investment. First, it quantifies induced consumption, that is, how much of each dollar of extra income is used for consumption. If the interest rate is higher, that Intel should not make any kind of investment in building a new chip manufacturing factory. So, in the consumption



function, we get to know the consumption expenditure. The demand for money, as reflected in its speed, is a stable function of nominal incomes, interest rates, etc. The first step is for the MPC to try to predict future inflation. The mechanism for injecting money into the economy is not so important in the long run. If, for example, the MPC is 0.75,
then 75 percent of the additional income goes to consumption. After doing all these calculations, I had an important decision not to invest money in buying a car. According to the question, if the government pays half of any new investment may be capital investment, which will lead to an increase in the investment demand curve. The amount of
money is related to the number of pounds exchanged in transactions. Future growth is possible by preventing current consumption to increase investment. QUS NO: -6 Suppose Intel is considering building a new chip manufacturing factory. But quantity theory states that there is no long-term link between money and output or between inflation and
output. Principles: - The above theory is based on the following assumptions: the source of inflation is derived oreP oreP .riviverbos arap saicnerefsnart ed ogap nu oid el onreibog 1E .azerbop ed aenAl al ed ojabed sanosrep sahcum yah aidnl al nE - :refsnarT ed sogaP .airatenom atrefo al ed otneimicerc ed asat al ed it’s on a lot that the government
balance effects.i don’t mean it should be removed but it should be less according to your bodget. The link between transactions and money is expressed in the quantitative equation. If the interest rate is high, then an entrepreneur will not invest his money in building a factory. It can be easily explained with the help of the diagram that when there is
no increase in money then the LM curve is ,LM1 and when the money supply increases then there is change in the LM curve of LM1 “LM2. Fiscal policy implies that the government changes the levels of taxes and expenditures to influence the level of aggregate demand. So, I have to pay $300 as interest rate which is a lot for me. QUS NO:-4 What is
the relationship between the marginal and mean propensity to consume in the standard Keynesian consumption function? We mainly know that there is an inverse relationship between investment and the type of interest in the economy. Politics reduced inflation, but at the cost of a recession. Real interest rate = Nominal interest rate Aa2 Inflation
Cost of interest = type of interest x cost. ANS NO:-9 1.Monetary policy In the United Kingdom and the United States, monetary policy is the most important tool for keeping inflation low.In the United Kingdom, monetary policy is set by the Bank of England’s MPC. In addition, while the PSM is constant, the APC changes from one income level to
another. Ans c) It’s also a part of the investment because I borrow $1000 from the bank to buy a car in the hope of making more money using that car in the pizza delivery business. Since investment is a component of aggregate demand, a change in investment shifts the aggregate demand curve to the right or to the left. Discuss the policy
instruments available to a government to achieve these The investment decision is a decision of marginal cost marginal benefit The marginal benefit of the investment is the expected rate of return (r) The El cost is the type of interest (i) that must be paid for the funds provided; The two are the determinants of spending on investment. The monetary
offer will increase in the economy. Average consumption propensity The marginal propensity to consumption is one of the two measures of the relationship between consumption and income. A part of the additional income is not consumed and, therefore, it is saved. Qus no: 5 Most economists - and almost all central bankers - seem to think that
inflation is expensive. In an economic sense, an investment is the purchase of goods that today is not consumed but that are used in the future to create wealth. Companies assume risks. c) You rendered $ 1000 from the bank to buy a car to use in your pizza delivery business. This shows that when income increases, consumption also increases, but in
less proportion (that is,) the proportion of income spent on consumption continues to decrease as income increase. An investment is made if the expected performance rate exceeds the interest rate (R> i). Ans A) As it is clear that the purchase of any asset is a part of the investment not a savings because the savings means getting the money store in
the banks or lockers. R = (TR A ¢ & € "Investment) / Investment cost. Your family is mortgage and buys a new house. NO ANS: -3 Graphic representation of the negative relationship between investment expenses and the interest rate, based on the marginal efficiency of investment for different capital investment projects. Vom = 1 / p If the price of
good increases, this will lead to a decrease in the value of money. According to this case, Intel is not having many funds in your hand, so it is asking for money borrowed to give some amount of interest. Share this: Facebook Twitter Reddit LinkedIn WhatsApp A, the consumer function is a little that contributes to the rettiwT rettiwT koobecaF :otse
etrapmoC .onreibog le euq sjAmeda ecelbatse ,otnat ol roP .llahsraM A ed etrap rop adnamed al ed n3Aicnuf al ed otneimirbucsed le euq setnatropmi sjAm osulcni orep sagoljAna ocim3Anoce sisiljAna ed LinkedIn WhatsApp A The average propensity to consume is the proportion of household income that is used for consumer spending. But choose the
right investments and use them A you have the potential for big earnings later on. QUS NO:-10 An economy has a full employment output of 9,000, and government purchases are 2000. Investment is affected by the interest rate; the negative relationship between investment and the interest rate is illustrated by the investment demand curve. The
medication of the slope is usually given asthe AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA A Interest rate: If interest is high, then people will forget the present consumption and postpone it to a future date. This will certainly reduce consumption. The government gives them an inflation target.
3.Exchange policy At the end of the 1980s, the UK joined the ERM as a means of controlling inflation. My roommate earns 100 dollars and deposited that amount into his bank account without buying an asset. When other factors of production can be easily replaced by the category of work (substitution effect). It would be short-sighted for the
government to have a conflicting regulator, which reduces the amount of investment and increases user charges. If we think about the next 15 years, a very substantial portion of investment in all regulated industries in India is going to come from the private sector. From the diagram of the IS-LM curve we can easily understand the relationship
between the IS-LM curve and the government. Assuming that Intel needs to borrow money from the bond market, why would an increase in interest rates affect Intel’s decision on whether to build the factory? Intel will make investments to manufacture a new factory of ANS no: -5 Yes, if the quantity theory is true, the inflation can be expensive
because we know that there is a reverse relationship between value value Money and the price of the commodity and the value of money and the price can explain the theory of the quantity of money. Your net profit is $30 ($100 to $70) Note that the rate of return> the rate of interest, therefore, the investment is worth it. B. For the equilibrium of the
payout balance: - There are many points from which we can bop of equilibrium, these are: - Here, imports are the main parts of maintaining the equilibrium BOP because, mainly, with the effect of this on the designilbrio. The other factors are Transffer Payments, Government Steps, Election Expenses, etc. ... Investments are not made when the
interest rate exceeds the expected rate of return (R3) Expected rate of return: companies only make investments when they expect to receive profits. Imports: - The main reason for BOP equilibrium is imports if exports are lower than imports than the situation of a designilbrio if we want equilibrium in India so we have to increase our exports. And for
this we have to give subsidies to the people who are producing those things that are exported. exported.
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